

$\mathbb{B}^{-1}$ –Convex Functions

Gabil Adilov

*Faculty of Education, Akdeniz University,
Dumlupinar Boulevard 07058, Campus, Antalya, Turkey
gabiladilov@gmail.com*

Ilknur Yesilce*

*Faculty of Science and Letters, Mersin University,
Ciftlikkoy Campus, 33343, Mersin, Turkey
ilknuriesilce@gmail.com*

Received: April 30, 2015

Revised manuscript received: July 30, 2015

Accepted: November 27, 2015

In this work, $\mathbb{B}^{-1}$ -convex functions which are a new class of generalized convex functions are studied. Some theorems about important properties of $\mathbb{B}^{-1}$ -convex functions are proved. Also, with the aim of regarding the relation between convex and $\mathbb{B}^{-1}$ -convex functions, some examples are given.

Keywords: Abstract convexity, $\mathbb{B}^{-1}$ -convexity, $\mathbb{B}^{-1}$ -convex functions

2010 Mathematics Subject Classification: 52A01, 52A41, 26B25

1. Introduction

Nowadays, abstract convexity has attracted great attention, especially, generalized convex functions' classes have studied a lot. Some of these function classes are quasiconvex functions ([21]), multiplicatively convex functions ([20]), P-functions ([21]), Godnova-Levin functions ([12]), increasing convex-along-rays functions ([20]), s-convex functions ([16]), log-convex functions ([17]), r-convex functions ([5]), etc. Moreover, topical and anti-topical functions each of which is also of generalized convex function classes studied in [22, 23] in recent years.

Convexity concept has generalized as different abstract convexity types. Some of these types are max-plus convexity ([14, 15]), min-plus convexity ([15, 18]), tropical convexity ([11, 18]), $\mathbb{B}$ -convexity ([7]), $\mathbb{B}^{-1}$ -convexity ([2]) which are connected with each other. For instance, in [15], the equivalence of the theories of $\mathbb{B}$ -convexity and max-plus convexity is indicated. In the same way, it can be shown that $\mathbb{B}^{-1}$ -convexity and min-plus convexity are equal.

*Corresponding author.

$\mathbb{B}$ -convexity which is established in [7] is one of the generalizations of convexity. In this field, separation theorems were studied in [9], $\mathbb{B}$ -convex sets and their properties are examined in [1], furthermore, halfspaces and Hahn-Banach like properties were considered in [8]. $\mathbb{B}$ -convexity is also discussed in [4, 6, 13] and $\mathbb{B}$ -convex functions are studied in [3].

$\mathbb{B}^{-1}$ -convexity concept was given in [2, 10] and some important properties of $\mathbb{B}^{-1}$ -convex sets were investigated in [2, 4]. The applications of $\mathbb{B}^{-1}$ -convexity to economy were given in [10]. Separation theorems in $\mathbb{B}^{-1}$ -convexity were analysed in [24]. In this paper, some theorems about important properties of $\mathbb{B}^{-1}$ -convex function which is defined in [3] are proven.

The structure of this article is as follows. In second section, necessary definitions and theorems about $\mathbb{B}^{-1}$ -convex sets are reminded. In Section 3, $\mathbb{B}^{-1}$ -convex and $\mathbb{B}^{-1}$ -concave functions are expressed and theorems which give sufficient and necessary conditions to these functions are proven. Afterwards, we show some examples that help us to understand the relation between convex and $\mathbb{B}^{-1}$ -convex functions, in fourth section. Finally, in Section 5, some important properties of $\mathbb{B}^{-1}$ -convex functions are studied.

We will use the following notation: $\mathbb{Z}_-$ is the set of negative integers; $K = \mathbb{R} \setminus \{0\}$; $\mathbb{R}^n$ is the n -dimensional vector space; $\mathbb{R}_{++}^n = \{(x_1, \dots, x_n) \in \mathbb{R}^n : x_i > 0, i = 1, \dots, n\}$; for $x, y \in \mathbb{R}^n$, $x \wedge y = (\min\{x_1, y_1\}, \min\{x_2, y_2\}, \dots, \min\{x_n, y_n\})$; $\text{epi}(f) = \{(x, \mu) | x \in U, \mu \in \mathbb{R}, \mu \geq f(x)\}$; $\text{hyp}(f) = \{(x, \mu) | x \in U, \mu \in \mathbb{R}, \mu \leq f(x)\}$; $\text{epi}^0(f) = \{(x, \mu) | x \in U, \mu \in K, \mu \geq f(x)\}$; $\text{hyp}^{++}(f) = \{(x, \mu) | x \in U, 0 < \mu \leq f(x)\}$.

2. $\mathbb{B}^{-1}$ -convex Sets

For $r \in \mathbb{Z}_-$, where $\mathbb{Z}_-$ is the set of negative integers, the map $x \rightarrow \varphi_r(x) = x^{2r+1}$ is a homeomorphism from $K = \mathbb{R} \setminus \{0\}$ to itself; $x = (x_1, x_2, \dots, x_n) \rightarrow \Phi_r(x) = (\varphi_r(x_1), \varphi_r(x_2), \dots, \varphi_r(x_n))$ is homeomorphism from K^n to itself. For $k_1, k_2 \in K$ the indexed sum is

$$k_1 +^r k_2 = (k_1^{2r+1} + k_2^{2r+1})^{\frac{1}{2r+1}}$$

and, with the help of $\varphi_r(k_1 k_2) = \varphi_r(k_1) \varphi_r(k_2)$, the indexed product is

$$k_1 \cdot^r k_2 = k_1 k_2.$$

For $k_i \in K$ and $x_i = (x_{i1}, x_{i2}, \dots, x_{in}) \in K^n, i = 1, 2, \dots, m$ we have

$$\begin{aligned} \sum_{i=1, \dots, m}^r k_i \cdot^r x_i &= \Phi_r^{-1} \left(\sum_{i=1}^m \varphi(k_i) \Phi_r(x_i) \right) \\ &= \left(\left[\sum_{i=1}^m (k_i x_{i1})^{2r+1} \right]^{\frac{1}{2r+1}}, \left[\sum_{i=1}^m (k_i x_{i2})^{2r+1} \right]^{\frac{1}{2r+1}}, \dots, \left[\sum_{i=1}^m (k_i x_{in})^{2r+1} \right]^{\frac{1}{2r+1}} \right). \end{aligned}$$

For a finite nonempty set $A = \{x_1, x_2, \dots, x_m\} \subset K^n$ the Φ_r -convex hull (shortly r -convex hull) of A , which we denote $\text{Co}^r(A)$, is given by

$$\text{Co}^r(A) = \left\{ \Phi_r^{-1} \left(\sum_{i=1}^m t_i \Phi_r(x_i) \right) : t_i \geq 0, \sum_{i=1}^m t_i = 1 \right\}.$$

Thus $\mathbb{B}^{-1}$ -polytopes can be defined as follows:

Definition 2.1 ([2]). The Kuratowski-Painleve upper limit of the sequence of sets $\{\text{Co}^r(A)\}_{r \in \mathbb{Z}^-}$, where A is finite, denoted by $\text{Co}^{-\infty}(A)$ is called $\mathbb{B}^{-1}$ -polytope of A ; that is the set of point $x \in K^n$ for which there exist a decreasing sequence $\{r_k\}_{k \in \mathbb{N}}$ and points $x_{r_k} \in \text{Co}^{r_k}(A)$ such that $x = \lim_{k \rightarrow \infty} x_{r_k}$.

In the following theorem, a definition which is equivalent to the Definition 2.1 in $\mathbb{R}_{++}^n$ is obtained.

Theorem 2.2 ([2]). For all nonempty finite subsets $A = \{x_1, \dots, x_m\} \subset \mathbb{R}_{++}^n$ we have

$$\text{Co}^{-\infty}(A) = \lim_{r \rightarrow -\infty} \text{Co}^r(A) = \left\{ \bigwedge_{i=1}^m t_i x_i : t_i \geq 1, \min_{1 \leq i \leq m} t_i = 1 \right\}.$$

Here, we denote by $\bigwedge_{i=1}^m x_i$ the greatest lower bound of $x_1, x_2, \dots, x_m \in \mathbb{R}^n$, that is:

$$\bigwedge_{i=1}^m x_i = (\min \{x_{1,1}, \dots, x_{m,1}\}, \dots, \min \{x_{1,n}, \dots, x_{m,n}\})$$

where $x_{i,j}$ denotes j th coordinate of the i th point.

Now, we can give the definition of $\mathbb{B}^{-1}$ -convex sets.

Definition 2.3 ([2]). A subset U of K^n is called a $\mathbb{B}^{-1}$ -convex set if for all finite subsets $A \subset U$ the $\mathbb{B}^{-1}$ -polytope $\text{Co}^{-\infty}(A)$ is contained in U .

By Theorem 2.2, for subsets of $\mathbb{R}_{++}^n$, the above definition can be expressed in the following form:

A subset U of $\mathbb{R}_{++}^n$ is $\mathbb{B}^{-1}$ -convex if and only if, for all $x_1, \dots, x_m \in U$ and all $t_1, \dots, t_m \in [1, \infty)$ such that $\min \{t_1, \dots, t_m\} = 1$ one has $\bigwedge_{i=1}^m t_i x_i \in U$.

The following theorem presents more simple definition of $\mathbb{B}^{-1}$ -convex sets.

Theorem 2.4 ([2]). A subset U of $\mathbb{R}_{++}^n$ is $\mathbb{B}^{-1}$ -convex if and only if, for all $x_1, x_2 \in U$

$$\text{Co}^{-\infty}(\{x_1, x_2\}) \subset U$$

i.e., the subset U of $\mathbb{R}_{++}^n$ is $\mathbb{B}^{-1}$ -convex if and only if, for all $x_1, x_2 \in U$ and all $t \in [1, \infty)$ one has $tx_1 \wedge x_2 \in U$.

3. $\mathbb{B}^{-1}$ -convex Functions

Firstly, we recall the following definitions which will be required to define $\mathbb{B}^{-1}$ -convex and $\mathbb{B}^{-1}$ -concave functions.

Definition 3.1 ([19]). Let $U \subset \mathbb{R}^n$ and $f : U \rightarrow \mathbb{R} \cup \{\pm\infty\}$. The set

$$\{(x, \mu) \mid x \in U, \mu \in \mathbb{R}, \mu \geq f(x)\}$$

is called the epigraph of f and is denoted by $\text{epi}(f)$.

Definition 3.2 ([20]). Let $U \subset \mathbb{R}^n$ and $f : U \rightarrow \mathbb{R} \cup \{\pm\infty\}$. The set

$$\{(x, \mu) \mid x \in U, \mu \in \mathbb{R}, \mu \leq f(x)\}$$

is called the hypograph of f and is denoted by $\text{hyp}(f)$.

Now, we can give the definition of $\mathbb{B}^{-1}$ -convex function.

Definition 3.3 ([13]). For $U \subset K^n$, a function $f : U \rightarrow K$ is called a $\mathbb{B}^{-1}$ -convex function if $\text{epi}^0(f) := \{(x, \mu) \mid x \in U, \mu \in K, \mu \geq f(x)\}$ is a $\mathbb{B}^{-1}$ -convex set.

In $\mathbb{R}_{++}^n$, we can give the following fundamental theorem which provides a sufficient and necessary condition for $\mathbb{B}^{-1}$ -convex functions [13].

Theorem 3.4. *Let $U \subset \mathbb{R}_{++}^n$ and $f : U \rightarrow \mathbb{R}_{++}$. The function f is $\mathbb{B}^{-1}$ -convex if and only if the set U is $\mathbb{B}^{-1}$ -convex and one has the inequality:*

$$f(\lambda x \wedge y) \leq \lambda f(x) \wedge f(y) \quad (1)$$

for all $x, y \in U$ and all $\lambda \in [1, +\infty)$.

Proof. Firstly, we assume that f is a $\mathbb{B}^{-1}$ -convex function. In this case, from Definition 3.3 which gives the $\mathbb{B}^{-1}$ -convexity of $\text{epi}^0(f)$, for all $(x, \mu), (y, \nu) \in \text{epi}^0(f)$ and all $\lambda \in [1, +\infty)$ we have $\lambda(x, \mu) \wedge (y, \nu) \in \text{epi}^0(f)$. Thus, it is obvious that

$$(x, \mu) \in \text{epi}^0(f) \Rightarrow \begin{cases} x \in U, \\ f(x) \leq \mu, \end{cases} \quad (2)$$

$$(y, \nu) \in \text{epi}^0(f) \Rightarrow \begin{cases} y \in U, \\ f(y) \leq \nu, \end{cases} \quad (3)$$

$$(y, \nu) \in \text{epi}^0(f) \Rightarrow \begin{cases} y \in U, \\ f(y) \leq \nu, \end{cases} \quad (4)$$

$$(y, \nu) \in \text{epi}^0(f) \Rightarrow \begin{cases} y \in U, \\ f(y) \leq \nu, \end{cases} \quad (5)$$

$$(\lambda x \wedge y, \lambda \mu \wedge \nu) \in \text{epi}^0(f) \Rightarrow \begin{cases} \lambda x \wedge y \in U, \\ f(\lambda x \wedge y) \leq \lambda \mu \wedge \nu. \end{cases} \quad (6)$$

$$(\lambda x \wedge y, \lambda \mu \wedge \nu) \in \text{epi}^0(f) \Rightarrow \begin{cases} \lambda x \wedge y \in U, \\ f(\lambda x \wedge y) \leq \lambda \mu \wedge \nu. \end{cases} \quad (7)$$

We deduce that U is a $\mathbb{B}^{-1}$ -convex set from (2), (4) and (6). Also, from (3), (5), (7), we obtain that

$$f(\lambda x \wedge y) \leq \lambda f(x) \wedge f(y)$$

for all $x, y \in U$ and all $\lambda \in [1, +\infty)$.

For the proof of sufficiency, let us assume that $U \subset \mathbb{R}_{++}^n$ is a $\mathbb{B}^{-1}$ -convex set and the inequality (1) holds for the function $f : U \rightarrow \mathbb{R}_{++}$ and all $x, y \in U$, $\lambda \in [1, +\infty)$. We have to show that f is a $\mathbb{B}^{-1}$ -convex function, namely, $\text{epi}^0(f)$ is a $\mathbb{B}^{-1}$ -convex set. For $(x, \mu), (y, \nu) \in \text{epi}^0(f)$ it is clear that

$$(x, \mu) \in \text{epi}^0(f) \Rightarrow \begin{cases} x \in U, \\ f(x) \leq \mu, \end{cases} \quad (8)$$

$$(y, \nu) \in \text{epi}^0(f) \Rightarrow \begin{cases} y \in U, \\ f(y) \leq \nu. \end{cases} \quad (10)$$

If we consider (8), (10) and $\mathbb{B}^{-1}$ -convexity of U , then we get

$$\lambda x \wedge y \in U \quad (12)$$

for all $\lambda \in [1, +\infty)$. Afterwards, using (9), (11), (12) and the inequality (1), we obtain $\lambda(x, \mu) \wedge (y, \nu) = (\lambda x \wedge y, \lambda \mu \wedge \nu) \in \text{epi}^0(f)$ and this gives us that $\text{epi}^0(f)$ is a $\mathbb{B}^{-1}$ -convex set. $\square$

Remark 3.5. For $c, d \in \mathbb{R}$, since $\min\{c, d\} = \frac{1}{2}[c + d - |c - d|]$, we have

$$\begin{aligned} \lambda x \wedge y &= (\min\{\lambda x_1, y_1\}, \min\{\lambda x_2, y_2\}, \dots, \min\{\lambda x_n, y_n\}) \\ &= \left(\frac{1}{2}[\lambda x_1 + y_1 - |\lambda x_1 - y_1|], \frac{1}{2}[\lambda x_2 + y_2 - |\lambda x_2 - y_2|], \right. \\ &\quad \left. \dots, \frac{1}{2}[\lambda x_n + y_n - |\lambda x_n - y_n|] \right) \\ &= \sum_{i=1}^n \frac{1}{2}[\lambda x_i + y_i - |\lambda x_i - y_i|] \mathbf{e}_i \end{aligned}$$

where $\mathbf{e}_i = (0, \dots, 0, \underbrace{1}_i, 0, \dots, 0) \in \mathbb{R}^n$, $i = 1, \dots, n$. In this case, we can express the inequality (1) in a following algebraic form:

$$f\left(\sum_{i=1}^n \frac{1}{2}[\lambda x_i + y_i - |\lambda x_i - y_i|] \mathbf{e}_i\right) \leq \frac{1}{2}[\lambda f(x) + f(y) - |\lambda f(x) - f(y)|].$$

Jensen Inequality for $\mathbb{B}^{-1}$ -convex functions, provides another sufficient and necessary condition, can be proven as follows.

Theorem 3.6 (Jensen Inequality). Let $f : U \subset \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$. f is a $\mathbb{B}^{-1}$ -convex function if and only if $U \subset \mathbb{R}_{++}^n$ is a $\mathbb{B}^{-1}$ -convex set and for all $x_1, \dots, x_m \in U$, all $\lambda_1, \dots, \lambda_m \in [1, +\infty)$ such that $\min_{i=1, \dots, m} \{\lambda_i\} = 1$ we have the inequality

$$f\left(\bigwedge_{i=1}^m \lambda_i x_i\right) \leq \bigwedge_{i=1}^m \lambda_i f(x_i). \quad (13)$$

Proof. Let f be a $\mathbb{B}^{-1}$ -convex function. With the help of Theorem 3.4, for all $x_1, \dots, x_m \in U$ and all $\lambda_1, \dots, \lambda_m \in [1, +\infty)$ such that $\min_{i=1, \dots, m} \{\lambda_i\} = 1$ we have $\lambda_1 x_1 \wedge \lambda_2 x_2 \wedge \dots \wedge \lambda_m x_m \in U$. Without losing generality, we can take $\lambda_m = 1$. Hence, if we denote $y = \lambda_2 x_2 \wedge \lambda_3 x_3 \wedge \dots \wedge \lambda_m x_m$, then we get $y \in U$. Again, from Theorem 3.4 the inequality

$$f(\lambda_1 x_1 \wedge y) \leq \lambda_1 f(x_1) \wedge f(y)$$

holds. Similarly, suppose that $z = \lambda_3 x_3 \wedge \dots \wedge \lambda_m x_m$, then we obtain $z \in U$. If we consider $\mathbb{B}^{-1}$ -convexity of f , then we conclude that

$$\begin{aligned} f\left(\bigwedge_{i=1}^m \lambda_i x_i\right) &\leq \lambda_1 f(x_1) \wedge f(y) = \lambda_1 f(x_1) \wedge f(\lambda_2 x_2 \wedge z) \\ &\leq \lambda_1 f(x_1) \wedge \lambda_2 f(x_2) \wedge f(z). \end{aligned}$$

If we continue applying this process, then we deduce the inequality (13).

To prove the sufficiency, we suppose that the inequality (13) is provided and $m = 2$. In this case, because of $\lambda_1, \lambda_2 \in [1, +\infty)$ and $\min\{\lambda_1, \lambda_2\} = 1$, we can take $\lambda_2 = 1$. Thus, we derive the inequality

$$f(\lambda_1 x_1 \wedge x_2) \leq \lambda_1 f(x_1) \wedge f(x_2)$$

which means that f is a $\mathbb{B}^{-1}$ -convex function. □

The following gives the definition of $\mathbb{B}^{-1}$ -concave function in $\mathbb{R}_{++}^n$.

Definition 3.7. A function $f : U \subset \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ is called a $\mathbb{B}^{-1}$ -concave function if the set $\text{hyp}^{++}(f) := \{(x, \mu) \mid x \in U, 0 < \mu \leq f(x)\}$ is $\mathbb{B}^{-1}$ -convex.

In the next theorem, a sufficient and necessary condition is expressed for $\mathbb{B}^{-1}$ -concave function.

Theorem 3.8. Let $U \subset \mathbb{R}_{++}^n$ and $f : U \rightarrow \mathbb{R}_{++}$. The function f is $\mathbb{B}^{-1}$ -concave if and only if the set U is $\mathbb{B}^{-1}$ -convex and for all $x, y \in U$ and all $\lambda \in [1, +\infty)$ the following inequality holds:

$$f(\lambda x \wedge y) \geq \lambda f(x) \wedge f(y). \quad (14)$$

Proof. For the necessary part of the proof, we assume that f is a $\mathbb{B}^{-1}$ -concave function. From the $\mathbb{B}^{-1}$ -concavity of f , $\text{hyp}^{++}(f)$ is a $\mathbb{B}^{-1}$ -convex set. In the other words; for all $(x, \mu), (y, \nu) \in \text{hyp}^{++}(f)$ and all $\lambda \in [1, +\infty)$, we have $\lambda(x, \mu) \wedge (y, \nu) \in \text{hyp}^{++}(f)$. Hence, it is clear that

$$(x, \mu) \in \text{hyp}^{++}(f) \Rightarrow \begin{cases} x \in U, \\ 0 < \mu \leq f(x), \end{cases} \quad (15)$$

$$(16)$$

$$(y, \nu) \in \text{hyp}^{++}(f) \Rightarrow \begin{cases} y \in U, \\ 0 < \nu \leq f(y), \end{cases} \quad (17)$$

$$(18)$$

$$(\lambda x \wedge y, \lambda \mu \wedge \nu) \in \text{hyp}^{++}(f) \Rightarrow \begin{cases} \lambda x \wedge y \in U, \\ 0 < \lambda \mu \wedge \nu \leq f(\lambda x \wedge y) . \end{cases} \quad (19)$$

As we take (15), (17) and (19) into consideration, we reach the $\mathbb{B}^{-1}$ -convexity of U . Then from (16), (18) and (20), for all $x, y \in U$ and all $\lambda \in [1, +\infty)$, we deduce that

$$f(\lambda x \wedge y) \geq \lambda f(x) \wedge f(y) .$$

For the sufficiency, let $U \subset \mathbb{R}_{++}^n$ be a $\mathbb{B}^{-1}$ -convex set and the inequality (14) holds. To show $\mathbb{B}^{-1}$ -concavity of f , we have to prove that $\text{hyp}^{++}(f)$ is a $\mathbb{B}^{-1}$ -convex set. Let $(x, \mu), (y, \nu) \in \text{hyp}^{++}(f)$, namely

$$(x, \mu) \in \text{hyp}^{++}(f) \Rightarrow \begin{cases} x \in U, \\ 0 < \mu \leq f(x) , \end{cases} \quad (21)$$

$$(y, \nu) \in \text{hyp}^{++}(f) \Rightarrow \begin{cases} y \in U, \\ 0 < \nu \leq f(y) . \end{cases} \quad (22)$$

From (21), (23) and $\mathbb{B}^{-1}$ -convexity of U , we obtain that

$$\lambda x \wedge y \in U, \quad \forall \lambda \in [1, +\infty) . \quad (25)$$

If we take (22), (24), (25) and the inequality (14) into consideration, then we have $\lambda(x, \mu) \wedge (y, \nu) = (\lambda x \wedge y, \lambda \mu \wedge \nu) \in \text{hyp}^{++}(f)$. $\square$

A function is called a $\mathbb{B}^{-1}$ -affine function if the function is both $\mathbb{B}^{-1}$ -convex and $\mathbb{B}^{-1}$ -concave function.

From Theorem 3.4 and Theorem 3.8, the following equality can be easily shown for the $\mathbb{B}^{-1}$ -affine function:

The function $f : U \subset \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ is $\mathbb{B}^{-1}$ -affine if and only if U is a $\mathbb{B}^{-1}$ -convex set and we have the equality

$$f(\lambda x \wedge y) = \lambda f(x) \wedge f(y) \quad (26)$$

for all $x, y \in U$ and all $\lambda \in [1, +\infty)$.

The following theorem includes Jensen Inequality for $\mathbb{B}^{-1}$ -concave functions and can be proven similarly to Theorem 3.6.

Theorem 3.9. *The function $f : U \subset \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ is $\mathbb{B}^{-1}$ -concave if and only if the set U is $\mathbb{B}^{-1}$ -convex and the inequality*

$$f\left(\bigwedge_{i=1}^m \lambda_i x_i\right) \geq \bigwedge_{i=1}^m \lambda_i f(x_i) \quad (27)$$

holds for all $x_1, \dots, x_m \in U$ and all $\lambda_1, \dots, \lambda_m \in [1, +\infty)$ such that $\min_{i=1, \dots, m} \{\lambda_i\} = 1$.

4. Examples

In this section, we give some examples of $\mathbb{B}^{-1}$ -convex functions.

Example 4.1. Let $f : \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ be Cobb-Douglas function, namely $f(z_1, \dots, z_n) = \prod_{i=1}^n z_i^{\alpha_i}$. For $\alpha_i \geq 0 (\forall i = 1, \dots, n)$ such that $\sum_{i=1}^n \alpha_i \leq 1$, the function f is $\mathbb{B}^{-1}$ -convex.

To show the $\mathbb{B}^{-1}$ -convexity of f , we have to prove the inequality

$$f(\lambda x \wedge y) = \prod_{i=1}^n (\lambda x_i \wedge y_i)^{\alpha_i} \leq \lambda \left(\prod_{i=1}^n x_i^{\alpha_i} \right) \wedge \left(\prod_{i=1}^n y_i^{\alpha_i} \right) = \lambda f(x) \wedge f(y) \quad (28)$$

for all $x, y \in \mathbb{R}_{++}^n$ and all $\lambda \in [1, +\infty)$.

Let $I = \{1, \dots, n\}$ and let us denote K as a subset of I which consist of the element $i \in I$ such that $\lambda x_i \wedge y_i = \lambda x_i$. Namely, we have

$$(\lambda x_i \wedge y_i)^{\alpha_i} = \begin{cases} (\lambda x_i)^{\alpha_i} & \text{if } i \in K, \\ (y_i)^{\alpha_i} & \text{if } i \in I \setminus K. \end{cases}$$

Hence, we obtain that the following two possibilities.

$$\begin{aligned} f(\lambda x \wedge y) &= \prod_{i=1}^n (\lambda x_i \wedge y_i)^{\alpha_i} = \prod_{i \in K} (\lambda x_i)^{\alpha_i} \prod_{i \in I \setminus K} (y_i)^{\alpha_i} \\ &\leq \prod_{i \in I} (\lambda x_i)^{\alpha_i} = \lambda^{\sum_{i \in I} \alpha_i} \prod_{i \in I} x_i^{\alpha_i} \leq \lambda \prod_{i \in I} x_i^{\alpha_i} = \lambda f(x) \end{aligned}$$

and

$$f(\lambda x \wedge y) = \prod_{i=1}^n (\lambda x_i \wedge y_i)^{\alpha_i} = \prod_{i \in K} (\lambda x_i)^{\alpha_i} \prod_{i \in I \setminus K} (y_i)^{\alpha_i} \leq \prod_{i \in I} (y_i)^{\alpha_i} = f(y).$$

Finally, the inequality (28) holds, namely the function f is $\mathbb{B}^{-1}$ -convex.

Example 4.2. The $\mathbb{B}^{-1}$ -convexity of the following function can be easily proven.

For $0 < \rho \leq 1$, $0 < \alpha_i \leq 1, i = 1, \dots, n$ and $a_i \geq 0, i = 1, \dots, n$ (all a_i -s are not zero at the same time), $g : \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$, $g(z_1, \dots, z_n) = (\sum_{i=1}^n a_i z_i^{\alpha_i})^\rho$.

The $\mathbb{B}^{-1}$ -convex functions f and g are examples for non-convex functions except the case when $\rho = 1$ and $\alpha_i = 1, i = 1, \dots, n$ for g .

But, in the case of $\rho = 1$ and $\alpha_i = 1, i = 1, \dots, n$ for the function g , it becomes a linear function, namely it is a convex function. Thus, it is example of function which is both $\mathbb{B}^{-1}$ -convex and convex.

On the contrary, the following example shows that a convex function does not have to be $\mathbb{B}^{-1}$ -convex.

Example 4.3. For $\rho \geq 1$, $\alpha_i \geq 1, i = 1, \dots, n$ and $a_i \geq 0, i = 1, \dots, n$ (all a_i -s are not zero at the same time), $g : \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$, $g(z_1, \dots, z_n) = (\sum_{i=1}^n a_i z_i^{\alpha_i})^\rho$ is a convex function. But g is not a $\mathbb{B}^{-1}$ -convex function when we take at least one $\alpha_i > 1$.

Indeed, we assume that any $\alpha_i > 1$. For $x = (1, 1, \dots, 1), y = (2, 2, \dots, 2) \in \mathbb{R}_{++}^n$, we get

$$\lambda x \wedge y = \begin{cases} \lambda x = \lambda(1, 1, \dots, 1) & \text{if } \lambda \in [1, 2), \\ y = (2, 2, \dots, 2) & \text{if } \lambda \in [2, +\infty). \end{cases}$$

If we examine the case of $\lambda \in (1, 2)$, then we have

$$\begin{aligned} g(\lambda x \wedge y) &= g(\lambda x) = (a_1 \lambda^{\alpha_1} + a_2 \lambda^{\alpha_2} + \dots + a_n \lambda^{\alpha_n})^\rho \\ &> (\lambda(a_1 + a_2 + \dots + a_n))^\rho \\ &\geq \lambda(a_1 + a_2 + \dots + a_n)^\rho = \lambda g(x) \end{aligned}$$

which means that the inequality (1) is not valid for g . Namely, the function g is not $\mathbb{B}^{-1}$ -convex.

5. Some Properties of $\mathbb{B}^{-1}$ -convex Functions

In this part of the paper, we give some important properties of the $\mathbb{B}^{-1}$ -convex and $\mathbb{B}^{-1}$ -concave functions.

We can express that supremum of the family of $\mathbb{B}^{-1}$ -convex functions is also $\mathbb{B}^{-1}$ -convex in the following theorem.

Theorem 5.1. Let $\{f_\alpha | f_\alpha : U \subset \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}\}$ be a family of $\mathbb{B}^{-1}$ -convex functions. Then the function f defined by $f(x) = \sup_\alpha \{f_\alpha(x)\}$ is a $\mathbb{B}^{-1}$ -convex function.

Proof. Let $\{f_\alpha\}$ be a family of $\mathbb{B}^{-1}$ -convex functions and $f(x) = \sup_\alpha \{f_\alpha(x)\}$. From the definition of the function f , we have $\text{epi}^0(f) = \bigcap_\alpha \text{epi}^0(f_\alpha)$. Since, the intersection of $\mathbb{B}^{-1}$ -convex sets is $\mathbb{B}^{-1}$ -convex from [4] then $\text{epi}^0(f)$ is a $\mathbb{B}^{-1}$ -convex set. Consequently, the function f is $\mathbb{B}^{-1}$ -convex. $\square$

The following theorem is about the level sets of a $\mathbb{B}^{-1}$ -convex function.

Theorem 5.2. For any $\mathbb{B}^{-1}$ -convex function $f : U \subset \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ and any $\alpha \in (0, +\infty]$, the level sets $\{x | f(x) < \alpha\}$ and $\{x | f(x) \leq \alpha\}$ are $\mathbb{B}^{-1}$ -convex.

Proof. Let $f : U \subset \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ be a $\mathbb{B}^{-1}$ -convex function. From Theorem 3.4, for all $x, y \in U$ and all $\lambda \in [1, +\infty)$ the following inequality holds:

$$f(\lambda x \wedge y) \leq \lambda f(x) \wedge f(y).$$

If we get $x', y' \in \{x | f(x) < \alpha\}$, from the above inequality we have

$$f(\lambda x' \wedge y') \leq \lambda f(x') \wedge f(y').$$

Additionally, since $f(x') < \alpha$ and $f(y') < \alpha$, we deduce that

$$f(\lambda x' \wedge y') < \lambda \alpha \wedge \alpha = \alpha. \quad (29)$$

The inequality (29) gives that $\lambda x' \wedge y' \in \{x \mid f(x) < \alpha\}$, namely the level set $\{x \mid f(x) < \alpha\}$ is $\mathbb{B}^{-1}$ -convex.

It can be shown similarly that the level set $\{x \mid f(x) \leq \alpha\}$ is also a $\mathbb{B}^{-1}$ -convex set. $\square$

We now prove a theorem for positively homogeneous $\mathbb{B}^{-1}$ -convex functions. Therefore, let us recall the definition of positively homogeneous function.

Definition 5.3. A function f on $\mathbb{R}^n$ is said to be positively homogeneous (of degree 1) if for every $x \in \mathbb{R}^n$ one has

$$f(\lambda x) = \lambda f(x), \quad 0 < \lambda < +\infty.$$

Theorem 5.4. A positively homogeneous function $f : \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ is $\mathbb{B}^{-1}$ -convex if and only if for every $x, y \in \mathbb{R}_{++}^n$, the following inequality holds:

$$f(x \wedge y) \leq f(x) \wedge f(y). \quad (30)$$

Proof. It is obvious that if f is a positively homogeneous $\mathbb{B}^{-1}$ -convex function, then (30) is valid.

On the other side, when we take the inequality (30) and positive homogeneity of f into consideration, we have

$$f(\lambda x \wedge y) \leq f(\lambda x) \wedge f(y) = \lambda f(x) \wedge f(y).$$

Namely, f is $\mathbb{B}^{-1}$ -convex. $\square$

Theorem 5.4 has a following consequence.

Corollary 5.5. If $f : \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ is a positively homogeneous $\mathbb{B}^{-1}$ -convex function, then

$$f(\lambda_1 x_1 \wedge \lambda_2 x_2 \wedge \dots \wedge \lambda_m x_m) \leq \lambda_1 f(x_1) \wedge \lambda_2 f(x_2) \wedge \dots \wedge \lambda_m f(x_m). \quad (31)$$

whenever $\lambda_1 > 0, \dots, \lambda_m > 0$.

Proof. If $f : \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ is positively homogeneous $\mathbb{B}^{-1}$ -convex function, then the inequality (30) is valid. For $\lambda_i > 0$ and $x_i \in \mathbb{R}_{++}^n$, $i = 1, \dots, m$, we have both $\lambda_i x_i \in \mathbb{R}_{++}^n$ ($\forall i = 1, \dots, m$) and $\lambda_2 x_2 \wedge \dots \wedge \lambda_m x_m \in \mathbb{R}_{++}^n$. With the above assumptions, we obtain that

$$\begin{aligned} f(\lambda_1 x_1 \wedge \lambda_2 x_2 \wedge \dots \wedge \lambda_m x_m) &\leq f(\lambda_1 x_1) \wedge f(\lambda_2 x_2 \wedge \dots \wedge \lambda_m x_m) \\ &= \lambda_1 f(x_1) \wedge f(\lambda_2 x_2 \wedge \lambda_3 x_3 \wedge \dots \wedge \lambda_m x_m) \\ &\leq \lambda_1 f(x_1) \wedge f(\lambda_2 x_2) \wedge f(\lambda_3 x_3 \wedge \dots \wedge \lambda_m x_m) \\ &\vdots \\ &\leq \lambda_1 f(x_1) \wedge \lambda_2 f(x_2) \wedge \dots \wedge \lambda_m f(x_m). \end{aligned} \quad \square$$

Theorem 5.6 (The operations with $\mathbb{B}^{-1}$ -convex functions).

- (i) Let $U \subset \mathbb{R}_{++}^n$, $f : U \rightarrow \mathbb{R}_{++}$ be a $\mathbb{B}^{-1}$ -convex function. Multiplying f by a positive scalar, we obtain also a $\mathbb{B}^{-1}$ -convex function.
- (ii) Let $f : U \subset \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$ be a $\mathbb{B}^{-1}$ -convex function. The restriction of f to a $\mathbb{B}^{-1}$ -convex subset of U is also a $\mathbb{B}^{-1}$ -convex function.
- (iii) If $f : U \subset \mathbb{R}_{++}^n \rightarrow V \subset \mathbb{R}_{++}$ is a $\mathbb{B}^{-1}$ -convex function and $g : V \subset \mathbb{R}_{++} \rightarrow \mathbb{R}_{++}$ is a non-decreasing $\mathbb{B}^{-1}$ -convex function, then $g \circ f$ is $\mathbb{B}^{-1}$ -convex.
- (iv) Suppose that $f : U \subset \mathbb{R}_{++}^n \rightarrow V \subset \mathbb{R}_{++}$ is a bijection. If f is increasing, then f is $\mathbb{B}^{-1}$ -convex if and only if f^{-1} is $\mathbb{B}^{-1}$ -concave. If f is a decreasing bijection, then f and f^{-1} are of the same type of $\mathbb{B}^{-1}$ -convexity.

Proof. (i) We assume that f is a $\mathbb{B}^{-1}$ -convex function. From Theorem 3.4, the inequality (1) holds. For any $c > 0$,

$$cf(\lambda x \wedge y) = c[f(\lambda x \wedge y)] \leq c[\lambda f(x) \wedge f(y)] = \lambda(cf)(x) \wedge (cf)(y)$$

which means that multiplying f by a positive scalar is a $\mathbb{B}^{-1}$ -convex function.

(ii) For a $\mathbb{B}^{-1}$ -convex function f , the inequality (1) is valid for all $x, y \in U$ and all $\lambda \in [1, +\infty)$. Since, (1) holds on every $\mathbb{B}^{-1}$ -convex subset A of U , the restriction of f to A is a $\mathbb{B}^{-1}$ -convex function.

(iii) Let $f : U \subset \mathbb{R}_{++}^n \rightarrow V \subset \mathbb{R}_{++}$ be $\mathbb{B}^{-1}$ -convex. In this case, for all $x, y \in U$ and all $\lambda \in [1, +\infty)$ we have

$$f(\lambda x \wedge y) \leq \lambda f(x) \wedge f(y) . \quad (32)$$

Let $g : V \subset \mathbb{R}_{++} \rightarrow \mathbb{R}_{++}$ be non-decreasing $\mathbb{B}^{-1}$ -convex function. Namely, for all $s, t \in V$ and all $\mu \in [1, +\infty)$ one has the inequality

$$g(\mu s \wedge t) \leq \mu g(s) \wedge g(t) . \quad (33)$$

Thus, from (32), (33) and non-decreasing of g , we obtain that

$$(g \circ f)(\lambda x \wedge y) \leq g(\lambda f(x) \wedge f(y)) \leq \lambda(g \circ f)(x) \wedge (g \circ f)(y) .$$

(iv) We assume that bijection f is increasing and $\mathbb{B}^{-1}$ -convex. From $\mathbb{B}^{-1}$ -convexity of f , for all $x, y \in U$ and all $\lambda \in [1, +\infty)$, the inequality (1) holds. Let $I_V (I_U)$ be the identity function on $V (U)$. Since $f \circ f^{-1} = I_V$ and $f^{-1} \circ f = I_U$, for all $s, t \in V$ and all $\mu \in [1, +\infty)$, we derive

$$\begin{aligned} f(f^{-1}(\mu s \wedge t)) &= \mu s \wedge t = \mu f(f^{-1}(s)) \wedge f(f^{-1}(t)) \\ &\geq f(\mu f^{-1}(s) \wedge f^{-1}(t)) . \end{aligned}$$

When we use the above inequality and increasing of f^{-1} which is obtained from increasing of f , we have

$$f^{-1}(\mu s \wedge t) \geq \mu f^{-1}(s) \wedge f^{-1}(t) .$$

Consequently, f^{-1} is $\mathbb{B}^{-1}$ -concave.

Now, let f^{-1} be $\mathbb{B}^{-1}$ -concave. Namely, for all $s, t \in V$ and all $\mu \in [1, +\infty)$, the inequality (14) is provided. If we take $f^{-1}(s) = x$, $f^{-1}(t) = y$, then it is obvious that $f(x) = s$, $f(y) = t$. From (14) and increasing of f , we obtain that

$$\mu f(x) \wedge f(y) \geq f(\mu x \wedge y).$$

Finally, we have proven that f is a $\mathbb{B}^{-1}$ -convex function.

Similarly, we can prove the other hypothesis in (iv). $\square$

Remark 5.7. As in classic convexity, product of two increasing (decreasing) $\mathbb{B}$ -convex functions is also a $\mathbb{B}$ -convex function([3]). However, it is not valid for $\mathbb{B}^{-1}$ -convexity. For instance, let $f : \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$, $f(z_1, \dots, z_n) = (\sum_{i=1}^n z_i)^{\frac{1}{2}}$ and $g : \mathbb{R}_{++}^n \rightarrow \mathbb{R}_{++}$, $g(z_1, \dots, z_n) = \sum_{i=1}^n z_i$. It is obvious that both of the functions are increasing (with respect to the coordinate-wise order relation) and from Example 4.2, it can be seen that the functions f and g are $\mathbb{B}^{-1}$ -convex functions. But, by using the same way in Example 4.3, we can show that product of these two functions is not $\mathbb{B}^{-1}$ -convex.

Acknowledgements. The authors are very thankful to editor and the anonymous referees for their constructive comments on this article. This work was supported by Akdeniz University, Mersin University and TUBITAK (The Scientific and Technological Research Council of Turkey).

References

- [1] G. Adilov, A. Rubinov: $\mathbb{B}$ -convex sets and functions, Numer. Funct. Anal. Optimization 27(3-4) (2006) 237-257.
- [2] G. Adilov, I. Yesilce: $\mathbb{B}^{-1}$ -convex sets and $\mathbb{B}^{-1}$ -measurable maps, Numer. Funct. Anal. Optimization 33(2) (2012) 131-141.
- [3] G. Adilov, I. Yesilce: Some important properties of $\mathbb{B}$ -convex functions, to appear.
- [4] G. Adilov, I. Yesilce: On generalization of the concept of convexity, Hacet. J. Math. Stat. 41(5) (2012) 723-730.
- [5] M. Avriel: Nonlinear Programming: Analysis and Methods, Englewood Cliffs, Prentice-Hall (1976).
- [6] W. Bricc: Some remarks on an idempotent and non-associative convex structure, J. Convex Analysis 22 (2015) 259-289.
- [7] W. Bricc, C. D. Horvath: $\mathbb{B}$ -convexity, Optimization 53 (2004) 103-127.
- [8] W. Bricc, C. D. Horvath: Halfspaces and Hahn-Banach like roperties in $\mathbb{B}$ -convexity and max-plus convexity, Pac. J. Optim. 4 (2008) 293-317.
- [9] W. Bricc, C. D. Horvath, A. M. Rubinov: Separation in $\mathbb{B}$ -convexity, Pac. J. Optim. 1 (2005) 13-30.

- [10] W. Briec, Q. B. Liang: On some semilattice structures for production technologies, *Eur. J. Oper. Res.* 215 (2011) 740–749.
- [11] M. Develin, B. Sturmfels: Tropical convexity, *Doc. Math. J.* 9 (2004) 1–27.
- [12] E. K. Godunova, V. I. Levin: Inequalities for functions of a Broad class that contains convex, monotone and some other forms of functions, in: *Numerical Mathematics and Mathematical Physics* 166, V. I. Levin (ed.), Moskov. Gos. Ped. Inst. Moscow 166 (1985) 138–142 (in Russian).
- [13] S. Kemali, I. Yesilce, G. Adilov: $\mathbb{B}$ -convexity, $\mathbb{B}^{-1}$ -convexity and their comparison, *Numer. Funct. Anal. Optim* 36(2) (2015) 133–146.
- [14] V. Nitica, I. Singer: Max-plus convex sets and max-plus semispaces. I, *Optimization* 56(1–2) (2007) 171–205.
- [15] V. Nitica, I. Singer: Max-plus convex sets and max-plus semispaces. II, *Optimization* 56(3) (2007) 293–303.
- [16] W. Orlicz: A note on modular spaces. I, *Bull. Acad. Pol. Sci., Sér. Sci. Math. Astron. Phys.* 9 (1961) 157–162.
- [17] J. E. Pecaric, F. Proschan, Y. L. Tong: *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, Boston (1991).
- [18] J. Richter-Gebert, B. Sturmfels, T. Theobald: First steps in tropical geometry, in: *Idempotent Mathematics and Mathematical Physics* (Vienna, 2003), G. L. Litvinov, V. P. Maslov (eds.), *Contemporary Mathematics* 377, American Mathematical Society, Providence (2005) 289–317.
- [19] R. T. Rockafellar: *Convex Analysis*, Princeton University Press, Princeton (1972).
- [20] A. Rubinov: *Abstract Convexity and Global Optimization*, Kluwer, Dordrecht (2000).
- [21] I. Singer: *Abstract Convex Analysis*, John Wiley and Sons, New York (1997).
- [22] I. Singer, V. Nitica: Extended-valued topical and anti-topical functions on semimodules, *Linear Algebra Appl.* 446 (2014) 25–70.
- [23] I. Singer, V. Nitica: Topical functions on semimodules and generalizations, *Linear Algebra Appl.* 437(10) (2012) 2471–2488.
- [24] G. Tinaztepe, I. Yesilce, G. Adilov: Separation of $\mathbb{B}^{-1}$ -convex sets by $\mathbb{B}^{-1}$ -measurable maps, *J. Convex Analysis* 21(2) (2014) 571–580.